# Semi Post-Widder Operators and Difference Estimates 

Vijay Gupta ${ }^{1} \cdot$ Monika Herzog ${ }^{2}$ (1)

Received: 15 December 2022 / Revised: 20 February 2023 / Accepted: 21 February 2023 /
Published online: 28 March 2023
© The Author(s) 2023


#### Abstract

We consider the Post-Widder operators of semi-exponential type, which are a generalization of the exponential operators connected with $x^{2}$. This modification has the beauty to find difference with other operators, while the original Post-Widder operators do not have such property. We estimate quantitative difference of these operators with Baskakov type operators and Szász-Kantorovich operators, along with some composition of operators. Finally, we further consider a form preserving linear functions and estimate some direct results.


Keywords Semi-exponential type Post-Widder operators • Moment producing function • Difference • Composition

Mathematics Subject Classification 41A25 • 41A30

## 1 Introduction

The concept of semi-exponential operators was first discussed by Tyliba and Wachnicki [14], who introduced semi-exponential extension of the Szász-Mirakyan and Weierstrass operators. Later, Herzog [11] captured semi-exponential Post-Widder operators for $\beta, \lambda>0, x \in I:=[0,+\infty)$ and $f \in C(I)$ (the space of real-valued continuous functions defined on the interval $I$ ) as follows:

[^0]\[

$$
\begin{equation*}
\left(P_{\lambda}^{\beta} f\right)(x)=\frac{\lambda}{x^{\lambda} \exp (\beta x)} \int_{0}^{\infty} \frac{\left(\frac{\lambda y}{\beta}\right)^{(\lambda-1) / 2} I_{\lambda-1}(2 \sqrt{\lambda \beta y})}{\exp (\lambda y / x)} f(y) \mathrm{d} y \tag{1.1}
\end{equation*}
$$

\]

where

$$
I_{\lambda-1}:=\sum_{j=0}^{\infty} \frac{z^{2 j+\lambda-1}}{j!\Gamma(j+\lambda) 2^{2 j+\lambda-1}}
$$

represents the modified form of Bessel function of first kind. Moreover, we denote by $C_{B}(I)$ the class of bounded continuous functions on $I$ and we consider the sup-norm for $f \in C_{B}(I)$, as

$$
\|f\|=\sup \{|f(x)|: x \in I\}
$$

Alternatively, (1.1) can be written as

$$
\left(P_{\lambda}^{\beta} f\right)(x)=\int_{0}^{\infty} k_{\lambda}^{\beta}(x, t) f(t) \mathrm{d} t,
$$

where the kernel

$$
k_{\lambda}^{\beta}(x, t)=\frac{\lambda^{\lambda}}{x^{\lambda} e^{\beta x}} \sum_{k=0}^{\infty} \frac{(\lambda \beta)^{k}}{k!\Gamma(\lambda+k)} e^{-\lambda t / x} t^{\lambda+k-1}
$$

satisfies the partial differential equation

$$
\begin{equation*}
\frac{\partial}{\partial x} k_{\lambda}^{\beta}(x, t)=\left[\frac{\lambda(t-x)}{x^{2}}-\beta\right] k_{\lambda}^{\beta}(x, t), \tag{1.2}
\end{equation*}
$$

which is the required condition for $P_{\lambda}^{\beta}$ to be of semi-exponential type operator. Also, for specific value $\beta=0$, we get the Post-Widder operators [12, (3.9)] defined by

$$
\begin{equation*}
\left(P_{\lambda} f\right)(x)=\frac{\lambda^{\lambda}}{x^{\lambda}} \frac{1}{\Gamma(\lambda)} \int_{0}^{\infty} e^{-\lambda y / x} y^{\lambda-1} f(y) \mathrm{d} y . \tag{1.3}
\end{equation*}
$$

Abel et al. [2] and Gupta and Milovanović [9] introduced all remaining semiexponential operators from available exponential-type operators. In a very recent paper [6], some more general form of exponential-type operators was introduced and discussed. Also, we refer the readers to the recent related work [10, 13].

In this paper, we shall investigate the difference between two operators which is an active area of research in the recent years. For example, in papers [3, 7, 8], the differences amongst operators having the same/different basis under summation are estimated. It is pointed out here that in case of the Post-Widder operators, the difference with other operators is not analogous due to the purely integral term of
the operators, but for the semi-exponential Post-Widder operators, one can find the difference with other operators. We also consider composition of such operators with some other operators to capture some other operators. Also, some modification of $P_{\lambda}^{\beta}$ is proposed here which preserves the linear functions.

## 2 Difference and Composition

In this section, we deal with the difference between $P_{\lambda}^{\beta}$ to the general Baskakov operators and some Kantorovich variants. We shall apply some estimates from paper [7] and [8]. Also, we indicate some composition estimates.

First, we write the operators (1.1) in an alternative form as

$$
\left(P_{\lambda}^{\beta} f\right)(x)=\sum_{k=0}^{\infty} s_{k}(\beta x) J_{\lambda, k}(f)
$$

where $s_{k}(\beta x)=\frac{e^{-\beta x}(x \beta)^{k}}{k!}$ and

$$
J_{\lambda, k}(f)=\frac{1}{\Gamma(\lambda+k)} \int_{0}^{\infty} e^{-u} u^{\lambda+k-1} f\left(\frac{x u}{\lambda}\right) \mathrm{d} u
$$

Remark 2.1 By simple computation, we have

$$
J_{\lambda, k}\left(e_{r}\right)=\frac{1}{\Gamma(\lambda+k)} \int_{0}^{\infty} e^{-u} u^{\lambda+r+k-1} \frac{x^{r}}{\lambda^{r}} \mathrm{~d} u=\frac{x^{r}}{\lambda^{r}} \frac{\Gamma(\lambda+r+k)}{\Gamma(\lambda+k)} .
$$

In particular

$$
b_{J_{\lambda, k}}=J_{\lambda, k}\left(e_{1}\right)=\frac{1}{\Gamma(\lambda+k)} \int_{0}^{\infty} e^{-u} u^{\lambda+k-1} \frac{x u}{\lambda} \mathrm{~d} u=\frac{x}{\lambda}(\lambda+k) .
$$

Also, using above, we have

$$
\begin{aligned}
\mu_{2}^{J_{\lambda, k}} & =J_{\lambda, k}\left(e_{1}-b_{J_{\lambda, k}} e_{0}\right)^{2}=\sum_{i=0}^{2}\binom{2}{i}(-1)^{i} J_{\lambda, k}\left(e_{2-i}\right)\left[b_{J_{\lambda, k}}\right]^{i} \\
& =\frac{x^{2}}{\lambda^{2}}(\lambda+k+1)(\lambda+k)-\frac{x^{2}}{\lambda^{2}}(\lambda+k)^{2}=\frac{x^{2}}{\lambda^{2}}(\lambda+k) . \\
\mu_{3}^{J_{\lambda, k}} & =J_{\lambda, k}\left(e_{1}-b_{J_{\lambda, k}} e_{0}\right)^{3}=\sum_{i=0}^{3}\binom{3}{i}(-1)^{i} J_{\lambda, k}\left(e_{3-i}\right)\left[b_{J_{\lambda, k}}\right]^{i} \\
& =\frac{x^{3}}{\lambda^{3}}(\lambda+k+2)(\lambda+k+1)(\lambda+k)
\end{aligned}
$$

$$
\begin{aligned}
& -3 \frac{x^{3}}{\lambda^{3}}(\lambda+k+1)(\lambda+k)^{2}+2 \frac{x^{3}}{\lambda^{3}}(\lambda+k)^{3} \\
= & 2 \frac{x^{3}}{\lambda^{3}}(\lambda+k)
\end{aligned}
$$

and

$$
\begin{aligned}
\mu_{4}^{J_{\lambda, k}}= & J_{\lambda, k}\left(e_{1}-b_{J_{\lambda, k}} e_{0}\right)^{4}=\sum_{i=0}^{4}\binom{4}{i}(-1)^{i} J_{\lambda, k}\left(e_{4-i}\right)\left[b_{J_{\lambda, k}}\right]^{i} \\
= & \frac{x^{4}}{\lambda^{4}}(\lambda+k+3)(\lambda+k+2)(\lambda+k+1)(\lambda+k) \\
& -4 \frac{x^{4}}{\lambda^{4}}(\lambda+k+2)(\lambda+k+1)(\lambda+k)^{2} \\
& +6 \frac{x^{4}}{\lambda^{4}}(\lambda+k+1)(\lambda+k)^{3}-3 \frac{x^{4}}{\lambda^{4}}(\lambda+k)^{4} \\
= & \frac{x^{4}}{\lambda^{4}}[3(\lambda+k)+6] .
\end{aligned}
$$

The general Baskakov type operators for $x \in I$ are defined as

$$
\begin{equation*}
\left(B_{\lambda}^{c} f\right)(x)=\sum_{k=0}^{\infty} a_{\lambda, k}^{c}(x) F_{\lambda, k}(f) \tag{2.1}
\end{equation*}
$$

where

$$
a_{\lambda, k}^{c}(x)=\frac{(-x)^{k}}{k!} \phi_{c, \lambda}^{(k)}(x), \quad F_{\lambda, k}(f)=f\left(\frac{k}{\lambda}\right) .
$$

and $\phi_{c, \lambda}(x)=(1+c x)^{-\lambda / c}, c \geq 0$.
In particular if $c=1, \phi_{1, \lambda}(x)=(1+x)^{-\lambda}$ in this case, we get the Baskakov operators, and if $c=0, \phi_{0, \lambda}(x)=e^{-\lambda x}$ is a limit for $c \rightarrow 0^{+}$and we obtain the Szász-Mirakyan operators.

Remark 2.2 By simple computation in (2.1), we have

$$
b_{F_{\lambda, k}}=F_{\lambda, k}\left(e_{1}\right)=\frac{k}{\lambda}, \quad \mu_{r}^{F_{\lambda, k}}:=F_{\lambda, k}\left(e_{1}-b_{F_{\lambda, k}} e_{0}\right)^{r}=0, r=1,2, \ldots
$$

Applying [7, Theorem 2.1], we get the estimation of $P_{\lambda}^{\beta}$ and $B_{\lambda}^{c}$.
The Kantorovich version of the Szász-Mirakyan operators is defined by

$$
\begin{equation*}
\left(K_{\lambda} f\right)(x)=\sum_{k=0}^{\infty} s_{k}(\lambda x) H_{\lambda, k}(f) \tag{2.2}
\end{equation*}
$$

where $s_{k}(\lambda x)=e^{-\lambda x} \frac{(\lambda x)^{k}}{k!}$, and $H_{\lambda, k}(f)=\lambda \int_{k / \lambda}^{(k+1) / \lambda} f(t) \mathrm{d} t$.
Remark 2.3 Following the computation given in [8] for (2.2), we have:

$$
b_{H_{\lambda, k}}=H_{\lambda, k}\left(e_{1}\right)=\frac{k}{\lambda}+\frac{1}{2 \lambda}, \quad \mu_{2}^{H_{\lambda, k}}=\frac{1}{12 \lambda^{2}}, \mu_{3}^{H_{\lambda, k}}=0, \mu_{4}^{H_{\lambda, k}}=\frac{1}{80 \lambda^{4}} .
$$

### 2.1 Difference with Discrete Operator

In the following two theorems, we find the difference between semi-exponential PostWidder operators and the generalized Baskakov type operators.

Theorem 2.4 If $D(I)$ be the set of all functions in $C(I)$ for which the two operators $P_{\lambda}^{\beta}, B_{\lambda}^{c} \in C(I)$ are defined and $f^{\prime \prime} \in C_{B}(I)$, then

$$
\begin{aligned}
\left|\left(\left(P_{\lambda}^{\beta}-B_{\lambda}^{c}\right) f\right)(x)\right| \leq & \left(\frac{x^{2}}{2 \lambda}+\frac{x^{3} \beta}{2 \lambda^{2}}\right)\left\|f^{\prime \prime}\right\|+2 \omega\left(f, \sqrt{\frac{x(1+c x)}{\lambda}}\right) \\
& +2 \omega\left(f, \frac{x^{3 / 2} \sqrt{\beta}(x \beta+1)^{1 / 2}}{\lambda}\right)
\end{aligned}
$$

for $c=0$ and $c=1$, we obtain the difference of semi Post-Widder operators with Szász-Mirakyan and Baskakov operators, respectively.

Proof Applying Remarks 2.1 and 2.2 to the aforementioned theorem, we have

$$
\left|\left(\left(P_{\lambda}^{\beta}-B_{\lambda}^{c}\right) f\right)(x)\right| \leq e_{\lambda, \beta}(x)| | f^{\prime \prime} \|+2 \omega\left(f, \delta_{1}\right)+2 \omega\left(f, \delta_{2}\right),
$$

where

$$
\begin{aligned}
e_{\lambda, \beta}(x) & =\frac{1}{2} \sum_{k=0}^{\infty}\left(a_{\lambda, k}^{c}(x) \mu_{2}^{F_{\lambda, k}}+s_{k}(\beta x) \mu_{2}^{J_{\lambda, k}}\right) \\
& =\frac{1}{2} \sum_{k=0}^{\infty} s_{k}(\beta x) \frac{x^{2}}{\lambda^{2}}(\lambda+k)=\frac{x^{2}}{2 \lambda}+\frac{x^{3} \beta}{2 \lambda^{2}}, \\
\delta_{1}(x) & =\left(\sum_{k=0}^{\infty} a_{\lambda, k}^{c}(x)\left(b_{F_{\lambda, k}}-x\right)^{2}\right)^{1 / 2} \\
& =\left(\sum_{k=0}^{\infty} a_{\lambda, k}^{c}(x)\left(\frac{k}{\lambda}-x\right)^{2}\right)^{1 / 2}=\sqrt{\frac{x(1+c x)}{\lambda}}
\end{aligned}
$$

and

$$
\delta_{2, \beta}(x)=\left(\sum_{k=0}^{\infty} s_{k}(\beta x)\left(b_{J_{\lambda, k}}-x\right)^{2}\right)^{1 / 2}
$$

$$
\begin{aligned}
& =\left(\sum_{k=0}^{\infty} s_{k}(\beta x)\left(\frac{x}{\lambda}(\lambda+k)-x\right)^{2}\right)^{1 / 2}=\left(\frac{x^{2}}{\lambda^{2}} \sum_{k=0}^{\infty} s_{k}(\beta x) k^{2}\right)^{1 / 2} \\
& =\frac{x^{3 / 2} \sqrt{\beta(x \beta+1)}}{\lambda}
\end{aligned}
$$

This completes the proof.

Theorem 2.5 If $D(I)$ be the set of all functions in $C(I)$ for which the two operators $P_{\lambda}^{\beta}, B_{\lambda}^{c} \in C(I)$ are defined with $f^{(i)} \in C_{B}(I), i=2,3,4$, then

$$
\begin{aligned}
\left|\left(\left(P_{\lambda}^{\beta}-B_{\lambda}^{c}\right) f\right)(x)\right| \leq & \left(\frac{x^{4}}{8 \lambda^{3}}+\frac{x^{4}}{4 \lambda^{4}}+\frac{x^{5} \beta}{8 \lambda^{4}}\right)\left\|f^{i v}\right\|+\left(\frac{x^{3}}{3 \lambda^{2}}+\frac{x^{4} \beta}{3 \lambda^{3}}\right)\left\|f^{\prime \prime \prime}\right\| \\
& +\left(\frac{x^{2}}{2 \lambda}+\frac{x^{3} \beta}{2 \lambda^{2}}\right)\left\|f^{\prime \prime}\right\| \\
& +2 \omega\left(f, \sqrt{\frac{x(1+c x)}{\lambda}}\right)+2 \omega\left(f, \frac{x^{3 / 2} \sqrt{\beta}(x \beta+1)^{1 / 2}}{\lambda}\right),
\end{aligned}
$$

for $c=0$ and $c=1$, we obtain the difference of semi-exponential Post-Widder operators with the Szász-Mirakyan and the Baskakov operators, respectively.

Proof Following [8, Theorem 2] and using Remarks 2.1 and 2.2, we have

$$
\begin{aligned}
\left|\left(\left(P_{\lambda}^{\beta}-B_{\lambda}^{c}\right) f\right)(x)\right| \leq & e_{\lambda, \beta}^{1}(x)\left\|f^{i v}\right\|+e_{\lambda, \beta}^{2}(x)\left\|f^{\prime \prime \prime}\right\|+e_{\lambda, \beta}^{3}(x)\left\|f^{\prime \prime}\right\| \\
& +2 \omega\left(f, \delta_{1}\right)+2 \omega\left(f, \delta_{2}\right), \\
e_{\lambda, \beta}^{1}(x)= & \frac{1}{4!} \sum_{k=0}^{\infty}\left(a_{\lambda, k}^{c}(x) \mu_{4}^{F_{\lambda, k}}+s_{k}(\beta x) \mu_{4}^{J_{\lambda, k}}\right) \\
= & \frac{1}{24} \sum_{k=0}^{\infty} s_{k}(\beta x) \mu_{4}^{J_{\lambda, k}}=\frac{x^{4}}{8 \lambda^{4}} \sum_{k=0}^{\infty} s_{k}(\beta x)(\lambda+k+2) \\
= & \frac{(\lambda+2) x^{4}}{8 \lambda^{4}}+\frac{x^{5} \beta}{8 \lambda^{4}} \\
e_{\lambda, \beta}^{2}(x)= & \frac{1}{3!}\left|\sum_{k=0}^{\infty} a_{\lambda, k}^{c}(x) \mu_{3}^{F_{\lambda, k}}-\sum_{k=0}^{\infty} s_{k}(\beta x) \mu_{3}^{J_{\lambda, k}}\right| \\
= & \frac{1}{6} \sum_{k=0}^{\infty} s_{k}(\beta x) \mu_{3}^{J_{\lambda, k}} \\
= & \frac{x^{3}}{3 \lambda^{3}} \sum_{k=0}^{\infty} s_{k}(\beta x)(\lambda+k)=\frac{x^{3}}{3 \lambda^{2}}+\frac{x^{4} \beta}{3 \lambda^{3}} .
\end{aligned}
$$

Finally

$$
\begin{aligned}
e_{\lambda, \beta}^{3}(x) & =\frac{1}{2!}\left|\sum_{k=0}^{\infty} a_{\lambda, k}^{c}(x) \mu_{2}^{F_{\lambda, k}}-\sum_{k=0}^{\infty} s_{k}(\beta x) \mu_{2}^{J_{\lambda, k}}\right| \\
& =\frac{1}{2} \sum_{k=0}^{\infty} s_{k}(\beta x) \mu_{2}^{J_{\lambda, k}}=\frac{x^{2}}{2 \lambda}+\frac{x^{3} \beta}{2 \lambda^{2}}
\end{aligned}
$$

The estimates of $\delta_{1}$ and $\delta_{2}$ can be obtained as in Theorem 2.4. Collecting the above estimates, the result follows.

### 2.2 Difference with Integral Operator

In the following two theorems, we provide the difference of semi-exponential PostWidder operators with the generalized Szász-Kantorovich operators.

Theorem 2.6 If $D(I)$ be the set of all functions in $C(I)$ for which the two operators $P_{\lambda}^{\beta}, K_{\lambda} \in C(I)$ hold with $f^{\prime \prime} \in C_{B}(I)$, then

$$
\begin{aligned}
\left|\left(\left(P_{\lambda}^{\beta}-K_{\lambda}\right) f\right)(x)\right| \leq & \left(\frac{1}{24 \lambda^{2}}+\frac{x^{2}}{2 \lambda}+\frac{x^{3} \beta}{2 \lambda^{2}}\right)\left|\mid f^{\prime \prime} \|+2 \omega\left(f, \frac{\sqrt{4 \lambda x+1}}{2 \lambda}\right)\right. \\
& +2 \omega\left(f, \frac{x^{3 / 2} \sqrt{\beta}(x \beta+1)^{1 / 2}}{\lambda}\right)
\end{aligned}
$$

Proof Applying Remarks 2.3 and 2.1 to the aforementioned theorem, we have

$$
\left|\left(\left(P_{\lambda}^{\beta}-K_{\lambda}\right) f\right)(x)\right| \leq d_{\lambda, \beta}(x)| | f^{\prime \prime} \|+2 \omega\left(f, \widehat{\delta}_{1}\right)+2 \omega\left(f, \widehat{\delta}_{2}\right)
$$

where

$$
\begin{aligned}
d_{\lambda, \beta}(x) & =\frac{1}{2} \sum_{k=0}^{\infty}\left(s_{k}(\lambda x) \mu_{2}^{H_{\lambda, k}}+s_{k}(\beta x) \mu_{2}^{J_{\lambda, k}}\right) \\
& =\frac{1}{24 \lambda^{2}}+\frac{x^{2}}{2 \lambda}+\frac{x^{3} \beta}{2 \lambda^{2}}, \\
\widehat{\delta}_{1}(x) & =\left(\sum_{k=0}^{\infty} s_{k}(\lambda x)\left(b_{H_{\lambda, k}}-x\right)^{2}\right)^{1 / 2} \\
& =\left(\sum_{k=0}^{\infty} s_{k}(\lambda x)\left(\frac{k}{\lambda}+\frac{1}{2 \lambda}-x\right)^{2}\right)^{1 / 2}=\frac{\sqrt{4 \lambda x+1}}{2 \lambda}
\end{aligned}
$$

and

$$
\begin{aligned}
\widehat{\delta}_{2, \beta}(x) & =\left(\sum_{k=0}^{\infty} s_{k}(\beta x)\left(b_{J_{\lambda, k}}-x\right)^{2}\right)^{1 / 2} \\
& =\frac{x^{3 / 2} \sqrt{\beta(x \beta+1)}}{\lambda}
\end{aligned}
$$

This completes the proof.
Theorem 2.7 If $D(I)$ be the set of all functions in $C(I)$ for which the two operators $P_{\lambda}^{\beta}, K_{\lambda} \in C(I)$ are defined with $f^{(i)} \in C_{B}(I), i=2,3,4$, then

$$
\begin{aligned}
\left|\left(\left(P_{\lambda}^{\beta}-K_{\lambda}\right) f\right)(x)\right| \leq & \left(\frac{1}{1920 \lambda^{4}}+\frac{(\lambda+2) x^{4}}{8 \lambda^{4}}+\frac{x^{5} \beta}{8 \lambda^{4}}\right)\left\|f^{i v}\right\| \\
& +\left(\frac{x^{3}}{3 \lambda^{2}}+\frac{x^{4} \beta}{3 \lambda^{3}}\right)\left\|f^{\prime \prime \prime}\right\| \\
& +\left(\frac{1}{24 \lambda^{2}}+\frac{x^{2}}{2 \lambda}+\frac{x^{3} \beta}{2 \lambda^{2}}\right)\left\|f^{\prime \prime}\right\| \\
& +2 \omega\left(f, \frac{\sqrt{4 \lambda x+1}}{2 \lambda}\right) \\
& +2 \omega\left(f, \frac{x^{3 / 2} \sqrt{\beta}(x \beta+1)^{1 / 2}}{\lambda}\right)
\end{aligned}
$$

Proof Following [8, Theorem 2] and using Remarks 2.1 and 2.2, we have:

$$
\begin{aligned}
\left|\left(\left(P_{\lambda}^{\beta}-K_{\lambda}\right) f\right)(x)\right| \leq & d_{\lambda, \beta}^{1}(x)| | f^{i v}\left\|+d_{\lambda, \beta}^{2}(x)\right\| f^{\prime \prime \prime}\left\|+d_{\lambda, \beta}^{3}(x)\right\| f^{\prime \prime} \| \\
& +2 \omega\left(f, \widehat{\delta}_{1}\right)+2 \omega\left(f, \widehat{\delta}_{2}\right) \\
d_{\lambda, \beta}^{1}(x)= & \frac{1}{4!} \sum_{k=0}^{\infty}\left(s_{k}(\lambda x) \mu_{4}^{H_{\lambda, k}}+s_{k}(\beta x) \mu_{4}^{J_{\lambda, k}}\right) \\
= & \frac{1}{1920 \lambda^{4}}+\frac{(\lambda+2) x^{4}}{8 \lambda^{4}}+\frac{x^{5} \beta}{8 \lambda^{4}} \\
d_{\lambda, \beta}^{2}(x)= & \frac{1}{3!}\left|\sum_{k=0}^{\infty} s_{k}(\lambda x) \mu_{3}^{H_{\lambda, k}}-\sum_{k=0}^{\infty} s_{k}(\beta x) \mu_{3}^{J_{\lambda, k}}\right| \\
= & \frac{x^{3}}{3 \lambda^{2}}+\frac{x^{4} \beta}{3 \lambda^{3}} .
\end{aligned}
$$

Next

$$
d_{\lambda, \beta}^{3}(x)=\frac{1}{2!}\left|\sum_{k=0}^{\infty} s_{k}(\lambda x) \mu_{2}^{H_{\lambda, k}}-\sum_{k=0}^{\infty} s_{k}(\beta x) \mu_{2}^{J_{\lambda, k}}\right|
$$

$$
\leq \frac{1}{24 \lambda^{2}}+\frac{x^{2}}{2 \lambda}+\frac{x^{3} \beta}{2 \lambda^{2}}
$$

The estimates of $\widehat{\delta}_{1}$ and $\widehat{\delta}_{2}$ can be obtained as in Theorem 2.6. Collecting the above estimates, the result follows.

### 2.3 Composition

Proposition 2.8 Composition of semi-exponential Post-Widder and the SzászMirakyan operators provides the new operator

$$
\left(O_{\lambda} f\right)(x)=\frac{1}{e^{\beta x}} \sum_{s=0}^{\infty} \sum_{m=s}^{\infty} \frac{\beta^{m-s}(\lambda+m-s)_{s}}{(m-s)!s!} \frac{x^{m}}{(1+x)^{\lambda+m}} f\left(\frac{s}{\lambda}\right),
$$

which may be considered as representation of semi-exponential Baskakov operator, slightly different from [2]. If $\beta=0$, then $m=s$ and we get the Baskakov operators.

## Proof By definition

$$
\begin{aligned}
\left(\left(P_{\lambda}^{\beta} \circ S_{\lambda}\right) f\right)(x)= & \frac{\lambda^{\lambda}}{x^{\lambda} e^{\beta x}} \sum_{s=0}^{\infty} \sum_{k=0}^{\infty} \frac{(\lambda \beta)^{k}}{k!\Gamma(\lambda+k)} f\left(\frac{s}{\lambda}\right) \\
& \times \int_{0}^{\infty} e^{-\lambda t / x} t^{\lambda+k-1} e^{-\lambda t} \frac{(\lambda t)^{s}}{s!} \mathrm{d} t \\
= & \frac{\lambda^{\lambda}}{x^{\lambda} e^{\beta x}} \sum_{s=0}^{\infty} \sum_{k=0}^{\infty} \frac{(\lambda \beta)^{k} \lambda^{s}}{k!s!\Gamma(\lambda+k)} f\left(\frac{s}{\lambda}\right) \\
& \times \int_{0}^{\infty} e^{-t(\lambda+\lambda / x)} t^{\lambda+k+s-1} \mathrm{~d} t \\
= & \frac{\lambda^{\lambda}}{x^{\lambda} e^{\beta x}} \sum_{s=0}^{\infty} \sum_{k=0}^{\infty} \frac{(\lambda \beta)^{k} \lambda^{s}}{k!s!\Gamma(\lambda+k)(\lambda+\lambda / x)^{\lambda+k+s}} f\left(\frac{s}{\lambda}\right) \\
& \times \int_{0}^{\infty} e^{-u} u^{\lambda+k+s-1} \mathrm{~d} u \\
= & \frac{1}{e^{\beta x}} \sum_{s=0}^{\infty} \sum_{k=0}^{\infty} \frac{\beta^{k} \Gamma(\lambda+k+s) x^{k+s}}{k!s!\Gamma(\lambda+k)(1+x)^{\lambda+k+s}} f\left(\frac{s}{\lambda}\right) \\
= & \frac{1}{e^{\beta x}} \sum_{s=0}^{\infty} \sum_{k=0}^{\infty} \frac{\beta^{k}(\lambda+k)_{s} x^{k+s}}{k!s!(1+x)^{\lambda+k+s}} f\left(\frac{s}{\lambda}\right) .
\end{aligned}
$$

This completes the proof.

Proposition 2.9 The composition of Post-Widder operators and the SzászKantorovich operators provides the Baskakov-Kantorovich operators (see [1])

$$
\left(P_{\lambda} \circ K_{\lambda}\right)(x)=\lambda \sum_{k=0}^{\infty} a_{\lambda, k}^{1}(x) \int_{k / \lambda}^{(k+1) / \lambda} f(y) \mathrm{d} y,
$$

where $a_{\lambda, k}^{1}(x)=\sum_{k=0}^{\infty}\binom{\lambda+k-1}{k} \frac{x^{k}}{(1+x)^{\lambda+k}}$ is defined in (2.1).
Proof We can write

$$
\begin{aligned}
\left(\left(P_{\lambda} \circ K_{\lambda}\right) f\right)(x) & =\sum_{k=0}^{\infty} \frac{\lambda^{\lambda}}{x^{\lambda}} \frac{1}{\Gamma(\lambda)} \int_{0}^{\infty} e^{-\lambda t / x} t^{\lambda-1} e^{-\lambda t} \frac{(\lambda t)^{k}}{k!} H_{\lambda, k}(f) \mathrm{d} t \\
& =\frac{\lambda^{\lambda}}{x^{\lambda}} \frac{1}{\Gamma(\lambda)} \sum_{k=0}^{\infty} \frac{\lambda^{k}}{k!} H_{\lambda, k}(f) \int_{0}^{\infty} e^{-\left(\frac{\lambda}{x}+\lambda\right) t} t^{\lambda+k-1} \mathrm{~d} t \\
& =\frac{\lambda^{\lambda}}{x^{\lambda}} \frac{1}{\Gamma(\lambda)} \sum_{k=0}^{\infty} \frac{\lambda^{k}}{k!} H_{\lambda, k}(f) \frac{x^{\lambda+k}}{(\lambda+\lambda x)^{\lambda+k}} \int_{0}^{\infty} e^{-u} u^{\lambda+k-1} \mathrm{~d} u \\
& =\sum_{k=0}^{\infty} v_{\lambda, k}(x) H_{\lambda, k}(f) .
\end{aligned}
$$

This completes the proof of the proposition.

## 3 Modified Semi-exponential Post-Widder Operators

Let us consider the following modified form of the semi-exponential Post-Widder operators:

$$
\left(\widehat{P}_{\lambda}^{\beta} f\right)(x)=\frac{\lambda^{\lambda}}{\left(v_{\lambda}^{\beta}(x)\right)^{\lambda} e^{\beta v_{\lambda}^{\beta}(x)}} \sum_{k=0}^{\infty} \frac{(\lambda \beta)^{k}}{k!\Gamma(\lambda+k)} \int_{0}^{\infty} e^{-\lambda t / v_{\lambda}^{\beta}(x)} t^{\lambda+k-1} f(t) \mathrm{d} t,
$$

where

$$
v_{\lambda}^{\beta}(x)=\frac{-\lambda+\sqrt{\lambda^{2}+4 \lambda \beta x}}{2 \beta}, \beta \neq 0 .
$$

For $\lambda>4 \beta x$, we may write

$$
\begin{aligned}
v_{\lambda}^{\beta}(x) & =\frac{-\lambda+\sqrt{\lambda^{2}+4 \lambda \beta x}}{2 \beta} \\
& =\frac{1}{2 \beta}\left[-\lambda+\lambda\left(1+\frac{4 \beta x}{\lambda}\right)^{1 / 2}\right]
\end{aligned}
$$

$$
\begin{aligned}
& =\frac{1}{2 \beta}\left[-\lambda+\lambda\left(1+\frac{2 \beta x}{\lambda}-\frac{2 \beta^{2} x^{2}}{\lambda^{2}}+\frac{4 \beta^{3} x^{3}}{\lambda^{3}}-\frac{10 \beta^{4} x^{4}}{\lambda^{4}}+\cdots\right)\right] \\
& =\left[x-\frac{\beta x^{2}}{\lambda}+\frac{2 \beta^{2} x^{3}}{\lambda^{2}}-\frac{5 \beta^{3} x^{4}}{\lambda^{3}}+\cdots\right] .
\end{aligned}
$$

Also, we can calculate

$$
\begin{gathered}
\lim _{\beta \rightarrow 0} v_{\lambda}^{\beta}(x)=x \\
\lim _{\lambda \rightarrow \infty} v_{\lambda}^{\beta}(x)=x
\end{gathered}
$$

We observe that the operators $\left(\widehat{P}_{\lambda}^{\beta} f\right)(x)=\left(P_{\lambda}^{\beta} f\right)\left(v_{\lambda}^{\beta}(x)\right)$ preserve constants and linear functions, but we do not capture the exact Post-Widder operators (1.3). Also, these operators are neither exponential nor semi-exponential type operators as, for these operators, condition (1.2) is not satisfied for $\beta \geq 0$.

Lemma 3.1 The moment producing function of $\left(\widehat{P}_{\lambda}^{\beta} f\right)(x)$ for $A$ in some neighborhood of zero is given as

$$
\left(\widehat{P}_{\lambda}^{\beta} e^{A t}\right)(x)=\frac{\lambda^{\lambda}}{\left(\lambda-A v_{\lambda}^{\beta}(x)\right)^{\lambda}} \exp \left(\frac{A\left[v_{\lambda}^{\beta}(x)\right]^{2} \beta}{\lambda-A v_{\lambda}^{\beta}(x)}\right)
$$

In particular with $e_{s}(x)=x^{s}$, we have the representation

$$
\begin{aligned}
\left(\widehat{P}_{\lambda}^{\beta} e_{0}\right)(x)= & 1 \\
\left(\widehat{P}_{\lambda}^{\beta} e_{1}\right)(x)= & x \\
\left(\widehat{P}_{\lambda}^{\beta} e_{2}\right)(x)= & x^{2}+\frac{\sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta} x-\frac{2 x}{\beta}+\frac{\sqrt{4 \lambda \beta x+\lambda^{2}}}{2 \beta^{2}}-\frac{\lambda}{2 \beta^{2}} \\
\left(\widehat{P}_{\lambda}^{\beta} e_{3}\right)(x)= & x^{3}+\frac{3 \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta} x^{2}-\frac{6}{\beta} x^{2}+\frac{6}{\lambda \beta} x^{2}+\frac{3 \sqrt{4 \lambda \beta x+\lambda^{2}}}{2 \beta^{2}} x \\
& -\frac{5 \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta^{2}} x+\frac{9}{\beta^{2}} x-\frac{3 \lambda}{2 \beta^{2}} x-\frac{2 \sqrt{4 \lambda \beta x+\lambda^{2}}}{\beta^{3}}+\frac{2 \lambda}{\beta^{3}} \\
\left(\widehat{P}_{\lambda}^{\beta} e_{4}\right)(x)= & x^{4}+\frac{6 \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta} x^{3}-\frac{12}{\beta} x^{3}+\frac{36}{\lambda \beta} x^{3}+\frac{3 \sqrt{4 \lambda \beta x+\lambda^{2}}}{\beta^{2}} x^{2} \\
& -\frac{32 \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta^{2}} x^{2}+\frac{12 \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda^{2} \beta^{2}} x^{2}+\frac{63}{\beta^{2}} x^{2}-\frac{54}{\lambda \beta^{2}} x^{2} \\
& -\frac{3 \lambda}{\beta^{2}} x^{2}-\frac{17 \sqrt{4 \lambda \beta x+\lambda^{2}}}{\beta^{3}} x+\frac{30 \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta^{3}} x-\frac{48}{\beta^{3}} x+\frac{20 \lambda}{\beta^{3}} x \\
& -\frac{3 \lambda \sqrt{4 \lambda \beta x+\lambda^{2}}}{2 \beta^{4}}-\frac{9 \lambda}{\beta^{4}}+\frac{3 \lambda^{2}}{2 \beta^{4}} .
\end{aligned}
$$

Proof By the definition of the operators $\widehat{P}_{\lambda}^{\beta}$, we have

$$
\begin{aligned}
\left(\widehat{P}_{\lambda}^{\beta} e^{A t}\right)(x) & =\frac{\lambda^{\lambda}}{\left[v_{\lambda}^{\beta}(x)\right]^{\lambda} e^{\beta v_{\lambda}^{\beta}(x)}} \sum_{k=0}^{\infty} \frac{(\lambda \beta)^{k}}{k!\Gamma(\lambda+k)} \int_{0}^{\infty} e^{-\left(\lambda-A v_{\lambda}^{\beta}(x)\right) t / v_{\lambda}^{\beta}(x)} t^{\lambda+k-1} \mathrm{~d} t \\
& =\frac{\lambda^{\lambda}}{\left(\lambda-A v_{\lambda}^{\beta}(x)\right)^{\lambda}} e^{-\beta v_{\lambda}^{\beta}(x)} \sum_{k=0}^{\infty} \frac{\left(\frac{\lambda \beta v_{\lambda}^{\beta}(x)}{\lambda-A v_{\lambda}^{\beta}(x)}\right)^{k}}{k!} \\
& =\frac{\lambda^{\lambda}}{\left(\lambda-A v_{\lambda}^{\beta}(x)\right)^{\lambda}} \exp \left(\frac{A\left[v_{\lambda}^{\beta}(x)\right]^{2} \beta}{\lambda-A v_{\lambda}^{\beta}(x)}\right) .
\end{aligned}
$$

Using the following connection between moments and moment generating function:

$$
\left(\widehat{P}_{\lambda}^{\beta} e_{m}\right)(x)=\left[\frac{\partial^{m}}{\partial A^{m}} \frac{\lambda^{\lambda}}{\left(\lambda-A v_{\lambda}^{\beta}(x)\right)^{\lambda}} \exp \left(\frac{A\left[v_{\lambda}^{\beta}(x)\right]^{2} \beta}{\lambda-A v_{\lambda}^{\beta}(x)}\right)\right]_{A=0},
$$

we may get the moments by simple computation.
Lemma 3.2 If $\mu_{\lambda, m}^{\beta}(x)=\left(\widehat{P}_{\lambda}^{\beta}\left(e_{1}-x e_{0}\right)^{m}\right)(x)$, then we have

$$
\begin{aligned}
\mu_{\lambda, 0}^{\beta}(x)= & 1 \\
\mu_{\lambda, 1}^{\beta}(x)= & 0 \\
\mu_{\lambda, 2}^{\beta}(x)= & \frac{x \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta}-\frac{2 x}{\beta}+\frac{\sqrt{4 \lambda \beta x+\lambda^{2}}}{2 \beta^{2}}-\frac{\lambda}{2 \beta^{2}} \\
\mu_{\lambda, 3}^{\beta}(x)= & \frac{6 x^{2}}{\beta \lambda}-\frac{5 x \sqrt{4 \lambda \beta x+\lambda^{2}}}{\beta^{2} \lambda}+\frac{9 x}{\beta^{2}}-\frac{2 \sqrt{4 \lambda \beta x+\lambda^{2}}}{\beta^{3}}+\frac{2 \lambda}{\beta^{3}} \\
\mu_{\lambda, 4}^{\beta}(x)= & \frac{12 x^{3}}{\beta \lambda}-\frac{12 x^{2} \sqrt{4 \lambda \beta x+\lambda^{2}}}{\beta^{2} \lambda}+\frac{12 x^{2} \sqrt{4 \lambda \beta x+\lambda^{2}}}{\beta^{2} \lambda^{2}}+\frac{27 x^{2}}{\beta^{2}}-\frac{54 x^{2}}{\beta^{2} \lambda} \\
& +\frac{9 \sqrt{4 \lambda \beta x+\lambda^{2}}}{\beta^{4}}-\frac{9 x \sqrt{4 \lambda \beta x+\lambda^{2}}}{\beta^{3}}+\frac{30 x \sqrt{4 \lambda \beta x+\lambda^{2}}}{\beta^{3} n} \\
& +\frac{12 \lambda x}{\beta^{3}}-\frac{48 x}{\beta^{3}}-\frac{3 \lambda \sqrt{4 \lambda \beta x+\lambda^{2}}}{2 \beta^{4}}+\frac{3 \lambda^{2}}{2 \beta^{4}}-\frac{9 \lambda}{\beta^{4}} .
\end{aligned}
$$

### 3.1 Weighted Convergence

According to [5], we consider the following spaces:

$$
B_{e_{2}}(I)=\left\{f: I \rightarrow I:|f(x)| \leq M_{f}\left(1+e_{2}(x)\right)\right\},
$$

where the constant $M_{f}$ depends on $f$,

$$
C_{e_{2}}\left(R^{+}\right)=B_{e_{2}}(I) \cap C(I),
$$

and

$$
C_{e_{2}}^{*}(I)=\left\{f \in C_{e_{2}}(I): \lim _{x \rightarrow \infty} \frac{f(x)}{1+e_{2}(x)} \text { exists and it is finite }\right\}
$$

If the space $B_{e_{2}}(I)$ is yielded with the norm $\|\cdot\|_{e_{2}}$ defined by

$$
\|f\|_{e_{2}}=\sup _{x \in R^{+}} \frac{|f(x)|}{1+e_{2}(x)}
$$

then the same norm is considered in both of the spaces defined above.
The aim of the section is to achieve approximating theorems including Voronovskaya-type result in the aforementioned spaces.

Theorem A [5] Let $\left(A_{n}\right)_{n \geq 1}$ be a sequence oflinear positive operators mapping $C_{e_{2}}(I)$ into $B_{e_{2}}(I)$. If

$$
\lim _{n \rightarrow \infty}\left\|A_{n} e_{v}-e_{v}\right\|_{e_{2}}=0, \quad v=0,1,2,
$$

then, for $f \in C_{e_{2}}^{*}(I)$, we have

$$
\lim _{n \rightarrow \infty}\left\|A_{n} f-f\right\|_{e_{2}}=0
$$

Now, we apply the theorem to our operators.
Theorem 3.3 Let $f \in C_{e_{2}}^{*}(I)$, then the following holds true:

$$
\lim _{\lambda \rightarrow \infty}\left\|\widehat{P}_{\lambda}^{\beta} f-f\right\|_{e_{2}}=0
$$

Proof As we mentioned above, we shall examine the assumptions of Theorem A, applying them to the operators $\widehat{P}_{\lambda}^{\beta}$. According to Lemma 3.1, for the operators $\widehat{P}_{\lambda}^{\beta}$ on $C_{e_{2}}(I)$, the result holds true for $v=0,1$. Next, for $v=2$, we obtain

$$
\begin{aligned}
\left\|\widehat{P}_{\lambda}^{\beta} e_{2}-e_{2}\right\|_{e_{2}} & =\sup _{x \in I} \frac{\left|\left(\widehat{P}_{\lambda}^{\beta} e_{2}\right)(x)-x^{2}\right|}{1+x^{2}} \\
& =\sup _{x \in I} \frac{\left|\frac{x \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta}-\frac{2 x}{\beta}+\frac{\sqrt{4 \lambda \beta x+\lambda^{2}}}{2 \beta^{2}}-\frac{\lambda}{2 \beta^{2}}\right|}{1+x^{2}} .
\end{aligned}
$$

We have to prove that the above expression tends to zero as $\lambda \rightarrow \infty$.

First, we notice that for $z \in I$ and $\lambda>0$, we have $(z+\lambda)^{2} \geq(2 z+\lambda) \lambda$. Now, we substitute $z=2 \beta x$ which is no-negative by our assumptions, and we get

$$
(2 \beta x+\lambda)^{2} \geq \lambda(4 \beta x+\lambda) .
$$

Multiplying by $\lambda(4 \beta x+\lambda)>0$ we have

$$
\left(\lambda^{2}+4 \lambda \beta x\right)(2 \beta x+\lambda)^{2} \geq \lambda^{2}(4 \beta x+\lambda)^{2} .
$$

Due to monotonicity of the square root, we achieve the following estimation:

$$
\sqrt{4 \lambda \beta x+\lambda^{2}}(2 \beta x+\lambda) \geq \lambda(4 \beta x+\lambda)
$$

which is equivalent to the inequality

$$
\frac{x \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta}-\frac{2 x}{\beta}+\frac{\sqrt{4 \lambda \beta x+\lambda^{2}}}{2 \beta^{2}}-\frac{\lambda}{2 \beta^{2}} \geq 0 .
$$

Now, we proceed to the estimation from above. For $u \geq-1$ and $r \in[0,1]$, we have Bernoulli's inequality as follows:

$$
(1+u)^{r} \leq 1+r u .
$$

Substituting $u=\frac{4 \beta x}{\lambda}$ and $r=\frac{1}{2}$, we get

$$
\begin{equation*}
\left(1+\frac{4 \beta x}{\lambda}\right)^{\frac{1}{2}} \leq 1+\frac{2 \beta x}{\lambda} \tag{3.1}
\end{equation*}
$$

for $x \geq 0, \beta>0$ and $\lambda>0$. Now, using (3.1), we can estimate the following expression:

$$
\begin{aligned}
& \frac{x \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta}-\frac{2 x}{\beta}+\frac{\sqrt{4 \lambda \beta x+\lambda^{2}}}{2 \beta^{2}}-\frac{\lambda}{2 \beta^{2}} \\
& =\frac{x}{\beta}\left(1+\frac{4 \beta x}{\lambda}\right)^{1 / 2}-\frac{2 x}{\beta}+\frac{\lambda}{2 \beta^{2}}\left(\left(1+\frac{4 \beta x}{\lambda}\right)^{1 / 2}-1\right) \leq \frac{2 x^{2}}{\lambda}
\end{aligned}
$$

Hence, we get the estimation

$$
0 \leq \frac{\frac{x \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta}-\frac{2 x}{\beta}+\frac{\sqrt{4 \lambda \beta x+\lambda^{2}}}{2 \beta^{2}}-\frac{\lambda}{2 \beta^{2}}}{1+x^{2}} \leq \frac{2}{\lambda},
$$

which proves our assertion.

Theorem 3.4 Let $f$ and $f^{\prime \prime}$ belong to $C_{e_{2}}^{*}(I)$, then, for $x \in I$ and $\lambda>4 \beta x$, one has

$$
\begin{aligned}
& \left|\lambda\left[\left(\widehat{P}_{\lambda}^{\beta} f\right)(x)-f(x)\right]-\frac{x^{2}}{2}\left(1-\frac{\beta^{2} x^{2}}{\lambda^{2}}-\cdots\right) f^{\prime \prime}(x)\right| \\
& \quad \leq 2 \lambda \omega\left(f^{\prime \prime}, \frac{1}{\sqrt{\lambda}}\right)\left[\mu_{\lambda, 2}^{\beta}(x)+\lambda \mu_{\lambda, 4}^{\beta}(x)\right]
\end{aligned}
$$

where $\omega$ is the classical modulus of continuity.
Proof By Taylor's expansion and applying the operator $\widehat{P}_{\lambda}^{\beta}$, we can write that

$$
\begin{aligned}
& \left|\left(\widehat{P}_{\lambda}^{\beta} f\right)(x)-f(x)-\left(\widehat{P}_{\lambda}^{\beta}\left(e_{1}-x e_{0}\right)\right)(x) f^{\prime}(x)-\frac{\left(\widehat{P}_{\lambda}^{\beta}\left(e_{1}-x e_{0}\right)^{2}\right)(x)}{2} f^{\prime \prime}(x)\right| \\
& \quad=\left|\left(\widehat{P}_{\lambda}^{\beta} h(t, x)(t-x)^{2}\right)(x)\right|,
\end{aligned}
$$

where $h(t, x):=\frac{f^{\prime \prime}(\xi)-f^{\prime \prime}(x)}{2}$, and $\xi$ lying between $x$ and $t$. Thus, using Lemma 3.2 for $\lambda>4 \beta x$ and arguing as follows:

$$
\begin{aligned}
\left(\widehat{P}_{\lambda}^{\beta}\left(e_{1}-x e_{0}\right)^{2}\right)(x)= & \frac{x \sqrt{4 \lambda \beta x+\lambda^{2}}}{\lambda \beta}-\frac{2 x}{\beta}+\frac{\sqrt{4 \lambda \beta x+\lambda^{2}}}{2 \beta^{2}}-\frac{\lambda}{2 \beta^{2}} \\
= & \frac{x}{\beta}\left(1+\frac{4 \beta x}{\lambda}\right)^{1 / 2}-\frac{2 x}{\beta}+\frac{\lambda}{2 \beta^{2}}\left(1+\frac{4 \beta x}{\lambda}\right)^{1 / 2}-\frac{\lambda}{2 \beta^{2}} \\
= & \frac{x}{\beta}\left(1+\frac{2 \beta x}{\lambda}-\frac{2 \beta^{2} x^{2}}{\lambda^{2}}+\frac{4 \beta^{3} x^{3}}{\lambda^{3}}-\frac{10 \beta^{4} x^{4}}{\lambda^{4}}+\cdots\right)-\frac{2 x}{\beta} \\
& +\frac{\lambda}{2 \beta^{2}}\left(\frac{2 \beta x}{\lambda}-\frac{2 \beta^{2} x^{2}}{\lambda^{2}}+\frac{4 \beta^{3} x^{3}}{\lambda^{3}}-\frac{10 \beta^{4} x^{4}}{\lambda^{4}}+\cdots\right) \\
= & \frac{x}{\beta}\left(-1+\frac{2 \beta x}{\lambda}-\frac{2 \beta^{2} x^{2}}{\lambda^{2}}+\frac{4 \beta^{3} x^{3}}{\lambda^{3}}-\frac{10 \beta^{4} x^{4}}{\lambda^{4}}+\cdots\right) \\
& +\frac{\lambda}{2 \beta^{2}}\left(\frac{2 \beta x}{\lambda}-\frac{2 \beta^{2} x^{2}}{\lambda^{2}}+\frac{4 \beta^{3} x^{3}}{\lambda^{3}}-\frac{10 \beta^{4} x^{4}}{\lambda^{4}}+\cdots\right) \\
= & \frac{x^{2}}{\lambda}\left(1-\frac{\beta^{2} x^{2}}{\lambda^{2}}-\cdots\right),
\end{aligned}
$$

we get

$$
\begin{aligned}
& \left|\lambda\left[\left(\widehat{P}_{\lambda}^{\beta} f\right)(x)-f(x)\right]-\frac{x^{2}}{2}\left(1-\frac{\beta^{2} x^{2}}{\lambda^{2}}-\cdots\right) f^{\prime \prime}(x)\right| \\
& \quad=\left|\lambda\left(\widehat{P}_{\lambda}^{\beta} h(t, x)(t-x)^{2}\right)(x)\right| .
\end{aligned}
$$

Using the classical modulus of continuity, we get

$$
\lambda\left(\widehat{P}_{\lambda}^{\beta}|h(t, x)|(t-x)^{2}\right)(x) \leq 2 \lambda \omega\left(f^{\prime \prime}, \delta\right)\left[\mu_{\lambda, 2}^{\beta}(x)+\frac{\mu_{\lambda, 4}^{\beta}(x)}{\delta^{2}}\right]
$$

Considering $\delta=\lambda^{-1 / 2}$, we obtain the required result.
Corollary 3.5 Let $f$ and $f^{\prime \prime} \in C_{e_{2}}^{*}(I)$, then, for $x \in I$, we have

$$
\lim _{\lambda \rightarrow \infty} \lambda\left[\left(\widehat{P}_{\lambda}^{\beta} f\right)(x)-f(x)\right]=x^{2} \frac{f^{\prime \prime}(x)}{2}
$$

While, for the original operators, we have

$$
\lim _{\lambda \rightarrow \infty} \lambda\left[\left(P_{\lambda}^{\beta} f\right)(x)-f(x)\right]=\beta x^{2} f^{\prime}(x)+x^{2} \frac{f^{\prime \prime}(x)}{2}
$$

Theorem 3.6 For $f \in C_{B}(I)$, there exists a constant $C_{1}>0$, such that

$$
\left|\left(\widehat{P}_{\lambda}^{\beta} f\right)(x)-f(x)\right| \leq C_{1} \omega_{2}\left(f, \frac{x}{\sqrt{\lambda}}\left(1-\frac{\beta^{2} x^{2}}{\lambda^{2}}-\cdots\right)^{1 / 2}\right)
$$

Proof Let $h \in C_{B}^{2}(I)$ and $x, t \in I$. By Taylor's expansion, we have

$$
h(t)=h(x)+(t-x) h^{\prime}(x)+\int_{x}^{t}(t-u) h^{\prime \prime}(u) \mathrm{d} u .
$$

Hence, arguing as in Theorem 3.4, we have

$$
\begin{aligned}
\left|\left(\widehat{P}_{\lambda}^{\beta} h\right)(x)-h(x)\right| & =\left(\left(\widehat{P}_{\lambda}^{\beta}\left|\int_{x}^{t}(t-u) h^{\prime \prime}(u) \mathrm{d} u\right|\right)(x)\right) \\
& \leq\left(\widehat{P}_{\lambda}^{\beta}\left(e_{1}-x e_{0}\right)^{2}\right)(x)\left\|h^{\prime \prime}\right\| \\
& =\frac{x^{2}}{\lambda}\left(1-\frac{\beta^{2} x^{2}}{\lambda^{2}}-\cdots\right)\left\|h^{\prime \prime}\right\| .
\end{aligned}
$$

Due to constants preservation of $\widehat{P}_{\lambda}^{\beta}$, we have

$$
\left|\left(\widehat{P}_{\lambda}^{\beta} f\right)(x)\right| \leq\|f\| .
$$

Therefore

$$
\left|\left(\widehat{P}_{\lambda}^{\beta} f\right)(x)-f(x)\right| \leq\left|\left(\widehat{P}_{\lambda}^{\beta}(f-h)\right)(x)-(f-h)(x)\right|+\left|\left(\widehat{P}_{\lambda}^{\beta} h\right)(x)-h(x)\right|
$$

$$
\leq 2\|f-h\|+\frac{x^{2}}{\lambda}\left(1-\frac{\beta^{2} x^{2}}{\lambda^{2}}-\cdots\right)\left\|h^{\prime \prime}\right\| .
$$

Considering infimum over all $h \in C_{B}^{2}(I)$, and using the inequality between $K$ functional and second-order moduli property given in [4], we obtain the assertion.

## 4 Graphical Representation

In this section, we use the Mathematica software to visualize the convergence of our operators. For $t \in[0,20] \subset I$, we deal with the function $f(t)=t^{2}+e^{-t}$ which belongs to the space $C_{e_{2}}^{*}(I)$. Figure 1 performs six terms of the sequence of operators $\widehat{P}_{\lambda}^{\beta}$, for $\lambda=1,5,10,20,50,100$ and $\beta=1$.

In Fig. 2, we enlarge the plots that we have above.
In Fig. 3, we can see the comparison between the convergence of the classical Post-Widder operators $P_{\lambda}$, the semi-exponential Post-Widder operators $P_{\lambda}^{\beta}$, and the


Fig. 1 From the top $\widehat{P}_{1}^{1}, \widehat{P}_{5}^{1}, \widehat{P}_{10}^{1}, \widehat{P}_{20}^{1}, \widehat{P}_{50}^{1}, \widehat{P}_{100}^{1}, f$


Fig. 2 From the top $\widehat{P}_{1}^{1}, \widehat{P}_{5}^{1}, \widehat{P}_{10}^{1}, \widehat{P}_{20}^{1}, \widehat{P}_{50}^{1}, \widehat{P}_{100}^{1}, f$


Fig. 3 From the top $P_{5}^{1}, P_{5}, \widehat{P}_{5}^{1}, f$


Fig. 4 From the top $d_{1}, d_{5}, d_{50}$
modified semi-exponential Post-Widder operators $\widehat{P}_{\lambda}^{\beta}$. We propose the graphs of the following operators: $P_{5}, P_{5}^{1}, \widehat{P}_{5}^{1}$ and the function $f$ for $x \in[0,20]$.

The last picture demonstrates the approximation error for the operators $\widehat{P}_{5}^{1}, \widehat{P}_{50}^{1}$, $\widehat{P}_{100}^{1}$. Observe that the difference $d_{\lambda}(f)=\widehat{P}_{\lambda}^{\beta}(f)-f$ tends to 0 as $\lambda \rightarrow+\infty$. In Fig. 4 , we have the difference for $\beta=1$ and $\lambda=1,5,50$.

Acknowledgements The authors are thankful to both the reviewers for valuable suggestions leading to better presentation of the paper.

Funding No funding information is available.

## Declarations

Conflict of interest The authors declare that they have no conflict of interest.
Open Access This article is licensed under a Creative Commons Attribution 4.0 International License, which permits use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons licence, and indicate if changes were made. The images or other third party material in this article are included in the article's Creative Commons licence, unless indicated otherwise in a credit line to the material. If
material is not included in the article's Creative Commons licence and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder. To view a copy of this licence, visit http://creativecommons.org/licenses/by/4.0/.

## References

1. Abel, U., Gupta, V.: An estimate of the rate of convergence of a Bézier variant of the BaskakovKantorovich operators for bounded variation functions. Demonstratio Math. 36(1), 123-136 (2003)
2. Abel, U., Gupta, V., Sisodia, M.: Some new semi-exponential type operators, Revista de la Real Academia de Ciencias Exactas. Físicas y Naturales. Serie A. Matemáticas 116, 87 (2022). https://doi. org/10.1007/s13398-022-01228-2
3. Acu, A.M., Hodiş, A.S., Raşa, I.: A survey on estimates for the differences of positive linear operators. Construct. Math. Anal. 1, 113-127 (2018)
4. DeVore, R.A., Lorentz, G.G.: Constructive Approximation. Springer, Berlin (1993)
5. Gadzhiev, A.D.: Theorems of Korovkin type. Math. Notes 20(5), 995-998 (1676)
6. Gupta, V.: On new exponential-type operators. Rev. Real Acad. Cienc. Exactas Fis. Nat. Ser. A-Mat. 116, 157 (2022). https://doi.org/10.1007/s13398-022-01302-9
7. Gupta, V., Acu, A.M.: On difference of operators with different basis functions. Filomat 33(10), 3023-3034 (2019)
8. Gupta, V., Acu, A.M., Srivastava, H.M.: Difference of some positive linear approximation operators for higher-Order derivatives. Symmetry 12, 915 (2020). https://doi.org/10.3390/sym12060915
9. Gupta, V., Milonovic, G.V.: A solution to exponential operators, Results Math 77, Art. 207 (2022)
10. Gupta, V., Rassias, MTh.: Moments of Linear Positive Operators and Approximation, Series: SpringerBriefs in Mathematics. Springer Nature Switzerland AG (2019)
11. Herzog, M.: Semi-exponential operators. Symmetry 13, 637 (2021). https://doi.org/10.3390/ sym1304063
12. Ismail, M., May, C.P.: On a family of approximation operators. J. Math. Anal. Appl. 63, 446-462 (1978)
13. Ozarsalac, F., Gupta, V., Aral, A.: Approximation by some Baskakov-Kantorovich exponential type operators. Bull. Iran. Math. Soc. 48, 227-241 (2022). https://doi.org/10.1007/s41980-020-00513-3
14. Tyliba, A., Wachnicki, E.: On some class of exponential type operators. Comment. Math. 45, 59-73 (2005)

Publisher's Note Springer Nature remains neutral with regard to jurisdictional claims in published maps and institutional affiliations.


[^0]:    Communicated by Saeid Maghsoudi.

    Monika Herzog
    mherzog@pk.edu.pl
    Vijay Gupta
    vijaygupta2001@hotmail.com
    1 Department of Mathematics, Netaji Subhas University of Technology, Sector 3 Dwarka, New Delhi 110078, India
    2 Department of Applied Mathematics, Faculty of Computer Science and Telecommunications, Cracow University of Technology, 31-155 Cracow, Poland

